TKE Plots




No Ice

Total Turbulent Kinetic Energy (No Ice)
4 f

3.5 -
3 _
~—— SHOC 8km
T 25| - SHOC 3km
X NOSHOC 3km
et 2 | SHOC 1km
S NOSHOC 1km
‘D = SHOC .5km
I 1.5} 71 |===NOSHOC .5km
= LES .1km
1 | -
0.5 -
O ]
0 15

Tuesday, June 10, 14



O ICE

SGS Turbulent Kinetic Energy (No Ice) Total Turbulent Kinetic Energy (No Ice)
4 f T 4 T T
3.5 - 35", 1
A
&
~§
3t g 3 IR -
[ |
1
T 25 - SHOC 3km T 25 B REIEEILIETIERRPEIPPAERRERPERS NOSHOC 3km
X Diag. LES 3km X ;o | Diag. LES 3km
= . SHOC 1km — ' . NOSHOC 1km
c 2 ; c 2 ' -
o Diag. LES 1km o) ) Diag. LES 1km
'O —— SHOC .5km ‘O ' —— NOSHOC .5km
150 150 s :
I 1 7 | == =Diag. LES .5km L h = = = Diag. LES .5km
|
1t . 1§ ‘i a
)
1
0.5 . 054 v 1
\
) 3
- 0 L M -
0 1 2 3 0 v, 2 3
(m?s7?) (m?s™)

Tuesday, June 10, 14



Total Turbul
4

Height (km)

No Sed

SGS Turbulent Kine

ent Kinetic Energy (No Sed.)

SHOC 3km

SHOC 1km
= SHOC .5km
w— LES .1km

Height (km)

tic Energy (No Sed.)

SHOC 3km
Diag. LES 3km
SHOC 1km
Diag. LES 1km
=== SHOC .5km
= = = Diag. LES .5km

Tuesday, June 10, 14




Extra No lce Plots

To:al Turbulent Kinetic Energy (No Ice) Total Turbulent Kinetic Energy (No Ice)
T T 4E T T
3.5 = B[S,
A 3
&
~~
3r 7 3r Vs .
V4
[ |
2.5 :
= 2.5} . =25 1 1
S —— SHOC 8km € '
< SHOC 3km | = 'y | Diag. LES 3km
e 2 o SHOC 1km 2 L IR R Diag. LES 1km
% = SHOC .5km -% ! = = = Diag. LES .5km
T 1.5} ’—_'—Esjkm T 15} | 1
1
| .
1 1 1 ' 1
1
|}
0.5 - 0.5¢ B ]
|}
) ‘
‘.
0 = i
00 15 0 1 2 3
(m*s7%)

Tuesday, June 10, 14



Total Turbulent Kinetic Energy (No Ice)

w

Height (km)

i
1
1
.
i

== SHOC 8km

= ==8SHOC 8km 1/2LS
SHOC 3km
SHOC 3km 1/2LS
SHOC 1km
SHOC 3km 1/2LS

=== LES .1km

Height (km)

4

3.5}

TKE Half Mix Length

SGS Turbulent Kinetic Energy (No Ice)

=== SHOC 8km

= = =8SHOC 8km 1/2LS
SHOC 3km
SHOC 3km 1/2LS
SHOC 1km
SHOC 3km 1/2LS

=== LES .1km

Tuesday, June 10, 14




TKE Double Mix Length
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